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Sottrazione (orizzontale) Nome:
Risolvi ogni problema. Risposte
1.
1) 918 - 79 =
2,
2) 381 - 376 = 3,
4.
3 1.623 - 19 =
5,
4 2.586 - 863 = °
7.
5 6.877 - 5.995 = 8
9,
6) 3.436 - 9 =
10.
7) 9.234 - 1.700 = 11.
12.
8 714 - 327 =
9 60 - 40 =
10) 30 - 3 =
1) 7.072 - 41 =
12) 25 - 8 =
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ﬂh Sottrazione (orizzontale) Nome:

Soluzioni

Risolvi ogni problema. Risposte

1 839
1) 918 - 79 = 839

2. 5
2) 381 - 376 = 5 3, 1.604

4 1.723
3 1.623 - 19 = 1.604

5. 882
4 2586 - 863 = 1.723 6. _ 3427

7 7.534
5 6.877 - 5.995 = 882 . 387

9 20
6) 3.436 - 9 = 3.427

10, 27
7) 9.234 - 1.700 = 7.534 1. (.031

12, 17
8 714 - 327 = 387
9 60 - 40 = 20
10) 30 - 3 = 27

11) 7.072 - 41 = 7.031

12) 25 - 8 = 17

i 1-10
[M atematl Ca] www.CommonCoreShests.it 2 11-12

92

75|67]58]50[42[33[25]17|




C:# Sottrazione (orizzontale) Nome:

Risolvi ogni problema. Risposte
7.534 1.604 20 5 839
882 27 3.427 387 1.723 1
2.
1) 918 - 79 =
3.
4.
2) 381 - 376 =
5.
3 1.623 - 19 = °
7.
4 2.586 - 863 = 8.
9.
5 6.877 - 5.995 = o
6) 3.436 - 9 =
7) 9.234 - 1.700 =
8) 714 - 327 =
9 60 - 40 =
10) 30 - 3 =
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